L3.1d - Solving Quadratics by Factoring and Zeros
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r=6uandx=2

n=0andn =06

w=12and w =2

u = 0and u = —9; Sample answer: factoring because the
equation can be factored

no real solution; Sample answer: square roots because the
equation can be written in the form = o

x = 6and x = 2; Sample answer: square roots because the
equation can be written in the form w* = o

x = —0.5and x = —2.5; Sample answer: Tactoring because
the equation can be factored

—2and x = —4

=
Il

r=3andx= —10

r=3and x = -2

$5.75: $1983.75

(x+ 25)0x+ 15) =375+ 329 orx* + 40x — 329 = 0; T fi
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